راح يقول الدكتور جمله و يذكر فيها الاحصائيه و يذكر لك احدى المفردات التاليه في وسط الجمله 

increase / go up / rise ----- سهم الى الاعلى 
decrease / decline / go down ----- سهم الى الاسفل 
double ----- "ضِعْف" ×2 
percent ----- %
number ----- #
half ----- "الرقم الكسري نصف" 1/2 
third ----- "الرقم الكسري ثلث" 1/3
quarter ----- "الرقم الكسري ربع" 1/4
less than ----- اقل من > طبعاً الفتحه جايه على اليمين بحكم اننا باللغه الانجليزيه نكتب من اليسار 
more than ----- اكثر من < طبعاً الفتحه جايه على اليسار بحكم اننا باللغه الانجليزيه نكتب من اليسار 
equal to / the same as ----- =
شرح صفحه 84 :

السبب و النتيجه Causes & Effects

أمثله فيما السبب يأتي أولاً - Examples with Cause first

Because of robots, the number of factory jobs has decreased.

نلاحظ هنا Because of جاء ببداية الجمله 

طبعاً اذا جاء الـ Cause في بداية الجمله سيحصل التالي:
1- الكلمه المستخدمه للسبب تأتي اولاً (Because of)
2- و تأتي فاصله بين جملتي السبب و النتيجه 
3- جملة السبب > Because of robots
4- فاصله 
5- جملة النتيجه > the number of factory jobs has decreased
Human workers cannot work 24 houses a day; as a result, more and more factories are using more robots

نلاحظ هنا as a result جاء في منتصف الجمله 

طبعاً اذا جاء الـ Effect في منتصف الجمله سيحصل التالي:
1- جملة السبب < Human works cannot work 24 houses a day
2- بعدها تأتي فاصله منقوطه 
3- الكلمه المستخدمه للنتيجه و هي (as a result)
4- بعدها تأتي فاصله 
5- جملة النتيجه > more and more factories are using more robots
لكن في حالة so << اعرفكم على اختنا في الله، هذي احدى كلمات النتيجه بس مزاجيه حييييل و تبي تكون مميزه

Labor costs are cheaper in Asia, so many American factories are moving there
نلاحظ هنا so جاءت في منتصف الجمله 

طبعاً مثل ما قلنا اذا جاء الـ Effect في منتصف الجمله سيحصل التالي:
1- جملة السبب < Labor costs are cheaper in Asia
2- بعدها تأتي فاصله 
3- الكلمه المستخدمه للنتيجه و هي (so)
4- جملة النتيجه > many American factories are moving there
أمثله فيما النتيجه تأتي أولاً - Examples with Effect first

The number of factory jobs decreased due to robots

نلاحظ هنا due to جاء ببداية الجمله 

اذا جاء الـ Cause في منتصف الجمله سيحصل التالي:
1- جملة النتيجه > The number of factory jobs decreased
3- الكلمه المستخدمه للسبب و هي (due to)
4- جملة السبب > robots

مفردات السبب (Causes) هي :
Because of
Due to
Since
because
cause of
reason for

مفردات النتيجه (Effect) هي :
as a result
therefore
so

وكان معلومه ,,

صفحة 130 

معلومة مهمه

information Quistions have a rising-falling intonation1-

2- yes\no Q have a rising intonation
يا جماعة الخير جاني اتصال من شوي و عرفت منه الاخبار الحلوه

الاتصال يقول: 
ان القاعدات ماهي معانا ..
ان المفردات و معانيها و الريديوكايشن و السترس هم اللي نركز عليهم ..

و سلامتكم [image: http://www.ckfu.org/vb/images/avatars/jamela/(204).gif]
good morning
Homework Exercise # 2 (English 210)
Part B: Cloze Items

1 - The steak's _________________ at $3.99 a pound.
a - a) on sale 
b - b) in sell 
c - c) for sale 
d - d) to sell 
2 - We have to ________________ some laundry on the way.
a - a) put off 
b - b) pick off 
c - c) pick up 
d - d) put up
3 - Last year I went there, but I _________________ the whole time.
a - a) was pleasing 
b - b) is pleasing 
c - c) was frozen 
d - d) was freezing
صفحة 69

c

e

d

a

b
اوكي اللي ذكرها الدكتور محاضرة 1 او 2 مهم تسمع المحاضرة والحوار علشان تجاوب الاسئلة التاليه 

which two topics will the speaker talk about
1 types of courses
2 coures requirment


which of the following NOT a type of university course
lecture
lab
advising
discussion section


which two statement are true

american student use thier lecture notesto study for exam
in undergraduatre courses the professors meen privately with every student
	صفحه 17 ايش الجواب in abookstore
او 

in a library 



الجواب library

لان checked out not buy books

تاجير كتب وقراءة
صفحة 85 محاضرة 8 

Creating abbreviation:


اللي هي الاختصارات .. 



economy ____________________ econ.
manufacturing ___________________mfctrg
service ____________________serv.
technology____________________ techn
approximately____________________ approx
number____________________#
million ____________________ mill
medical____________________ med
computer____________________ cptr
percent____________________ %
bachelor of arts____________________ BA

1- In the mood :
A- To say that you are unhappy.
B- Terrible.
C- To use time doing something.
D- Not to want to do something.

الجواب الصحيح هو D
من الممكن يجيب الفي صفحه 18

تعابير الصوت

يجيب جمله ويقولك فيها ويش يحس فيه معصب ولا زعلان ولا قلق ولا غير مهتم ولا ضجر


sad
happy
angry
disappointed خيبه امل
excited متحمس
uninterested غير مهتم
worried قلق /مهموم
bored ضجر
Choose the definitions to the words and phrases

1- In the mood :
A- To say that you are unhappy.
B- Terrible.
C- To use time doing something.
D- Not to want to do something.



2- Supporting:

A- Not to want to do something.
B- To pay for something expenses.
C- To use time doing something.
D- Terrible.
3- Spends time:
A- To use time doing something.
B- Not to want to do something.
C- Terrible.
D- To say that you are not happy.
4- The worst:
A- Terrible.
B- Not to want to do something.
C- To use time doing something.
D- To say that you are not happy.
5- Complained:
A- Terrible.
B- To use time doing something.
C- To say that you are not happy.
D- Not to want to do something.
مين يعرف الجواب الصحيح لصفحة 12 رقم 3 

انا حليته A و d

d- the place where science majors do experiments for something expenses.
is called a lab

هذي صحيحة طلاب تخصص العلمي يعملون تجاربهم فى المختبر !! 

يمكن الدكتور ملخبط
الاجابه الاولى



Choose the definitions to the words and phrases

1- In the mood :
A- To say that you are unhappy.
B- Terrible.
C- To use time doing something.
D- Not to want to do something.

الباقي صحيحه
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